Math 1B (7:30am — 8:20am) What month is your birthday ? e
Quiz 8 Version C What are the first 2 digits of your address ?
Fri Jun 10, 2011 What are the last 2 digits of your zip code ?
What are the last 2 digits of your DeAnza ID number ?

SCORE: ___ /30 POINTS

You may or may not need the following reduction formulae.
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NO CALCULATORS ALLOWED

SHOW PROPER ALGEBRAIC WORK
USE PROPER NOTATION & SIMPLIFY ALL ANSWERS WHERE REASONABLE

5r2 +10 e |
Find I dx. SCORE: /[ POINTS
% =2%" +10%

5x2 +10 - 5x2 +10 4 BQx-2)+C@3) A((x=1)? +9) + Bx(2x - 2) + C(3x)
x((x-1D*+9)

x* =2x? +10x x((x=1)2 +9) _Lxm___ ((x“l) +9)
le +10 A((x=1)* +9)+ Bx(2x=2) + C(3x)
T0=104 = Ad=1,
le. 1529443C = C=2,4
il 15 =184wdB-350 = B=2,

l 3
Sx +l{) 30 3 1 2(2x-2)+2(3) 1 10 3

SANITY CHECK: x=2; —mm——=—=— ST - S I8
2 x ((x=1)"+9) 2 10 2

vV

=%t e 10x 2

I(l 2(2x — 2)+2(3)] x = Inx|+2In(x —2x+10)+2tan1x3-1+C,

X =114} ! o e e i I . =i
4

4 A p
2 e -

Find j.cos(%/;) dx. SCORE: __/_© POINTS

|
Letr—u OR u__—_\/j 2 de=Juntdu

ju:)s(v x)dx: = J3u cosu du \ it |} I 2 TenMs coRrReTY
P i ] P
S de £
2

3u® ) cosu ISuZ cosu du =, 3ze sm u +6u cosu — 6sinu,+C

\\_];.- ) e e IWW
6u __ sinu 2 ] 1 i
6 > —cosu JLOS(\, )dx = 3‘( bmx +6x° cosx3 —6sinx3 +C

j‘ . 1 - — e LT NSRS [y | |
0 > —sinu g --?_ - -

y 2. % 2



18 —x
Find | —m—
" J.xj--6x2+9x

SCORE: __/_/ POINTS

18-x _ 18-x _ 4 B & . A(x-3)* + Bx(x-3)+Cx
x® —6x% +9x x(x-3)° (_x x-3 (x—S)fJI_ x(x-3)*
18-x=A(x=3)" +Bx(x-3)+Cx, L
x=0: 18=94 = A=2, "
x=3s 15=3C = ,C=5 ;] L
x=1: 17=44-2B+C = | B=-2 1| \; J
SANITY CHECK.: % =Dz if____l_é:g g 5 2 %+:E+%=8

X3 —6x2+9x 2

2 =2 5

j[—+ + 2de = 2n|x|-2Injx-3/ - ?
x x=3 (x-3) x—3

+ + =
x x=-3 (x=3)° 1

+C

1 .
Find dx . SCORE: ___/ [/ POINTS
! J.x+x\/; '| T 2
=
Let x=(u~1)* OR u=1+x= dx=2(u-1)du
1 1 2(u—1) 2 - o o LT
——dx = |—————dx = |————du = du — ﬁ(L:rf: 4J\J7QS( :
Ix+,n/E J.x(1+\/;) I(u-l)zu L_{Eci)_u__A SEE e
( 21) _ A1+£ i mf_(+*§%‘_“_1) l SOLITTiCE
u—1u u-— u_y - u-—Hu it
12=A“+B(14—D,'Ji_ r 72@ V@Z&IO}\JS
u=0: 2=-B =>B=-24 2
w=1: {2 =4 - I ‘L
2 7 ¥ =2 B w7
SANITY CHECK: W= =< =] +—="4+—=1
u-Du 2 u-1 u . &

I[% +_72J du =

A T8

z 2
F 4
Find jx? cosx® dx.
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Since the integrand is odd and continuous, and the interval is symmetric, Jx cosx’ dx=0.
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